> In reply to the three points to your question

> 

> 1)Leaving the distance at 20 mtrs will have a very negative affect on those people who have good days and bad days as they will lose their car and will become prisoners in their homes.

> 

> 2)I think 50 mtrs is a better distance by which to measure someones ability to get about. 

> 

> 3)And I don't think there is any reason to change the way it is measured! I honestly do not know where you got the idea that the DLA assessments were non existent because DLA was one of the hardest benefits to claim! And even people who really should get it were often turned down!

> 

> with Kind Regards,  

> 

> *** ***

> 
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